@ t B?ZD Apudmernka LEebIX oKa3aTenei

Muw: Mlara: ___ Ouemxa:
5 +(-8) = 7+(-8) =
£ +1= 5 —7=
(1Y +2= (—6)2—1=
(=5 = (-7 = (-8)* — 8=
2> +(-9) = 7 —1=
$ 4= 22— (-2)=
(=2)° +(-3) = (=8)* = (-7) =
(-2)* —8= (5> +1=
(=8)" +(-9) = 4£-(D=
(2" + (-1 = 83— 10 =
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@ t B?:D ApudmeTnka 1epIx mokazarenen

Mus: Mlara:___ Ouemxa ___
5 +(-8) =117 7+ (-8) = (-1)
4 +1=065 5°—7=18
-D>+2=1 (—6)* — 1 =35
(=5)° = (=7) = (-118) (—8)* —8=(-520)
22 +(-9) = (-5) 7> —1=48
4 +4=068 2’ —(-2)=6
(=2)’ +(=3) = (-11) (-8)’ = (-7) =71
(—2)* —8=(—4) (—5)° + 1= (—124)
(—8)% +(-9) = 55 4 —(-1)=17
(2> +(-1)=3 8% —10 = 502
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